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LG X} 2023 12360 16TDIOR-GX76K LE

- o1& 3A0{i7 13AMICH 1360P CPU

- 16Q1X| 2560x1600 E{X|AZ 2

- 16B DDR5 M| 22|

- 512GB NVMe,M2 SSD

- W O|E ot0|21 2= 525 M.2 NVMe SSD 2TB 37t
- 2X|=A2|0f MX Anywhere 3

- 71 INCO09bt HE|ZE OFEH

- LG O3 360 M8 0| T X|

- 357 x 248 x 17.0mm

- 1.48kg

EA

E
=g

Yarei
x| gL
(T.042-868-9410)
RCH
(T.042-869-2788)
/2 mst
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AEHXL A A S3 T2360 NTI60QFG-K71AR
- 3}HA7| ;16" (40.6cm) , AMOLED , 2880 x 1800
— CPU: intel 17-1360P ( 2.2~5.0H 18MB )
— RAM : 32GB ( LPDDR5 22 E )
—SSD: 1TB ( PCle 40 NVMe ) + &% &% 1
- VGA : intel Iris Xe Graphics ( CPU LI )
— OS : Windows 11 Home ( 64 bit )
- HHE{2]: 76Wh, O| i E{ 65W, EtQ: USB CEFY
— M@l : 76Wh (Typical) , 64W USB-C O{ HE{
-dgH X dgH xE
— 37| :3554 x 2504 x 12.5mm , A : 1.56kg
— AHAR B0 E
— 2 M2 Wi-Fi 6E, Bluetooth v5.1
- AYAE3 Z2 162X T8 mpX|(2UA 0|4, BatE LPO7)
- g It A 0|, M 6112470096)
-2 *1 OFR A (RS X SM-M1000QB)
- USB & 2 (A4 X} EE-P5400)
-2 MG ("7 AVC004bt)
X HEM: i

EA

O0|A2ATE MI|A T29 QF1-00015 7|
- CPU: O A0{i7 12M|CH 1265U CPU

- 0 22|: 8GB DDR5 H 22|

— SSD: 256GB NVMe, M2 SSD

- CIAZ80]: 1321%| 2880x1920

- 27 8799

- 287 x 209 x 9.3mm
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[ AdTxt ] HHAE3 T2360 NT960QFG-K71AR

— OS: Windows 11 Home

— CPU: intel 17-1360P ( 2.2~5.06H 18MB )

— O 22|: 32GB LPDDR5 Memory 32GB (22 E)

— SSD: 1TB (NVMe)+ & &% 1

- C|AE20]: 40.6cm (1621 X]) 2880*1800 WQXGA+D-AMOLED 2X
- GPU: 21% Iris Xe Graphics

- H{E{2]: 76Wh, O E 65W, EtQl: USB CEY

- 24 2k 1,5609

— X-I_Q_Eﬂ x|_?_J / KﬁQ_JH E‘%I—

- TRl HE (& USB-C PD65W EP-TA865)
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AT ZH2IA| 23 = 2360 NT960QFG-KC71G(SSD512GB)

- CPU: I/ 30{ i7-13AICH/ i7-1360P(2.2GHZ) / 123.0{(4P+8E)

- M 22]: LPDDR5(2E E)/ 16GB

- SSD: M.2(NVMe)/ 512GB/ M & R: 17Y

— C|2E2{0]: 40.6cm(1621X])/ 2880*1800(WQXGA+)/ 400Unit/ FALS:
- F&AU=EE: HDMI/ Y2 (FHD)

- GPU: W& 24H/ Iris Xe Graphics

— OS: Windows 11Home

- HIE{2]: 2|& O|2 HiH 2| (76Wh)/ Ol B H: 65W/ ST EHA}: EFRIC

- A 1.66kg

- &2 12.8mm

- XL M EZE4: 27 (USB-C B8)/ USB-A: 171/ MicroSD 7HE

- 875 X2 AT/ E) TPM/ HEHX| Y/ TMEH Zal/ USB-
PD/ DP Alt Mode

- MM JetnolE

- B2 2H: 802.11ax(Wi-Fi 6E)
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LG 16ZD90R-EX7Vk

- CPU: Q1= 3 0{i7 13M|CH 1360P

- 022|: 32GB DDR5 (7|& 16GB 0| A 32GBZ ¥ 120|E)
— SSD: 512GB NVMe,M2 SSD + &% &% 1 (PCle 3.0)

— C|2E2{0]: 40.6cm, WQXGA (2560 x 1600)

— GPU : NVIDIA Geforce RTX 3050 4GB Laptop GPU
—0S:Z2lEA

— HYE{2]: 90 (2|& Ol HiE{2|)

: 9F 1.299kg

S ALRB0|E

2l Intel® Wi-Fi 6 AX211 (Wi-Fi 6E, 2x2, BT Combo)
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LG 13 Style 35.5cm 14Z90RS-GA5CK

- CPU: QI Evo ZSHE 13M|CH Q= 0] i5-1340P ZEA|A
— M| 22|: 16GB LPDDR5 6000 MHz (R E)

- SSD: 1 TB (NVMe) + ZH& &1

- C|AZ20]: 35.5cm 2880*1800 WQXGA+

- GPU: Q1% Iris Xe Graphics

— OS: Windows 11Home(64bit)

- HiE{2]: 2|& O|2 HiE{2| (72wh)

- 27: 2 999¢g

A @27} 3l0|E

: Intel Wi-Fi 6 AX211 (Wi-Fi 6E, 2x2, BT Combo)
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- Q1= 0] i7 13M|CH 1360P CPU
- 172l%| 2560x1600

- 16GB DDR5 M| 22|

- 256GB NVMe, M2 SSD

- 379 x 259 x 17.8mm

- 1.45kg
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AETZL A2 A 23 2 EBF NTI60XFH-X92A
- CPU: O A0{i9 13MICH 13900H CPU

- M22|: 32GB DDR5

- SSD: 1TB NVMe, M2 SSD

- C|2E2{0]: 1621X] 2880x1800 AMOLED

— GPU: RTX 4070 Laptop GPU

- 2A:: 1.79%g

- 37|: 355.4 x 250 x 16.5mm

EA

stolotg|

o
s

(T.042-868-9382)

ISR

0
k=l

19




AT} 2022 AA 52 =2 133

— CPU: Q& i7-1260P 12M|CH

- M| Z2|: 16GB LPDDR5 (On BD 16GB)
— SSD: 512 GB NVMe SSD

- C|2E20]: 33.7 cm FHD &A|0F2t AMOLED Display (13.321X])
- GPU: 1% Iris Xe Graphics

— OS: Windows 11Home

- 2. ¢f 8709

— AHAIn :]_El-ﬂ_l-ol E

- 22 Wi-Fi 6E(Gig+), 802.11 ax 2x2
- S

SRS

- USB C to USB C M, ZT 0| HE|
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A HXL A-HAE3 2E2L NTI60XFH-X92A

— CPU: Q1€ 0] {9-13900H ZZ MM

- O 22|: 32GB LPDDRS (2EE)

— SSD: 1TB NVMe + 2TB NVMe (£ SSD &% : 2)

- C|AZ20]: 40.6cm (2%1621X]) WQXGA+AMOLED Display (2880*1800,
— GPU: NVIDIA GeForce RTX 4070 Laptom GPU 8GB GDDR6
— OS: Windows 11Home

- HiE{2]: 2|& Ol HiE 2| (76Wh)

- 2A: 1.79%g

- M 2ol E

— W EQI2: Bluetooth5.1, Wi-Fi 6E(Gig+), 802.11 ax 2x2

- O|O|Ef #0|&: USB-C type(FMLAN ¢ Z)

- BT7]: 100w, CEF # O] =3t BH AL

- EREA 0122 SM-B1100W E+£& M650(ZX| &)
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